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Bachelor of Science (BSC)
2nd Year Examination, 2023 (June)

Time : 2 Hours] [Max. Marks : 35

Note : This paper is of Thirty Five (35) marks divided into
two (02) Sections A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein. Candidates should limit their
answer to the questions on the given answer sheet. No
additional (B) answer sheet will be issued.
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(Long Answer Type Questions)/�	
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Note : Section 'A' contains Five (05) long answer type
questions of Nine and Half (9½) marks each. Learners
are required to answer any Two (02) questions only.

(2×9½=19)
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1. Define Axial, Lateral and Angular magnifications. Find
relation among them.
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2. Explain the construction and working of biprism.
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3. In Newton's ring experiment two light sources of wavelength
6000� and 4500� are used to form rings. It is observed
that nth dark ring due to 6000� light coinside with (n+1)th

dark ring due to 4500�. If the radius of curvature of the
piano convex lens is 100 cm, calculate the diameter of nth

dark ring due to �1 and �2.
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4. Discuss Rayleigh criterion for resolution. What is limit of
resolution? Determine an expression for the resolving power
of a grating.
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5. Explain the construction and working of Nicol prism? How
it can be used as polarizer and analyzer.
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Note : Section 'B' contains Eight (08) short answer type
questions of Four (04) marks each. Learners are required
to answer any Four (04) questions only. (4×4=16)
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1. Discuss a common solution to remove chromatic and
spherical aberration.
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2. How would you distinguish between circularly and elliptically
polarized light?
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3. Diffrentiate between Fraunhofer and Fresnel diffraction?
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4. Discuss Fermat's principle in brief and prove laws of
reflection with its help.
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5. Deduce Helmholtz Lagrange equation for image formation
for paraxial rays.
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6. A light of wavelength 5 × 10–7 m is made to incident on a
hole. Calculate the number of half period zones lying within
the hole with respect to a point at a distance of 1.0 m from
the hole if the radius of hole is (i) 10–3 m and (ii) 10–2 m.
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7. Write short notes on :

(i) Double refraction

      (ii) Dichroism
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8. Write Short note on Ramsden's Eyepiece.
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